Question 1
Question text

‘Indian Social Systems’ consists of bewildering variety of

Select one:
i. Six racial elements
ii. All of these

iii. Cults
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iv. Sects

Question 2
Question text

Expressive action is related to

Select one:
i. Rationality with Goal
ii. Myth

iii. Irrationality
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iv. Rationality

Question 3
Question text

After the interaction between modernity and tradition, the ‘hierarchy’ gets converted into

Select one:
i. Profane
ii. Sacred

iii. Equality

YYD

iv. Secular

Question 4
Question text

Righteousness represents

Select one:
i. Moral Value
ii. Psychological Value

iii. Spiritual Value

YYD

iv. Ecological Value

Question 5
Question text

Sanskritization is a

Select one:
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i. Change agent beyond the caste system

ii. Cultural Process
iii. Economic Process
iv. Social Process

Question 6
Question text

Westernization has impacted at

Select one:
i. Two levels
ii. Three levels
iii. Unlimited levels
iv. Four levels

Question 7

Question text

The ‘Contextual specific’ understanding is involved with

Select one:

i. Globalization

ii. Universalization

ii. Modernization

iv. Sanskrtization



